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 �/0�	��1&0� 2�'3�� ��+� �4�	�� 5�%
 1&06��� 5�%
  7 "8����� 9:����;$�� ��9/< �=
�< >�?�,� @�� 

��A#?< . �#	< �C� 1&0 �/0�	�� D9?� @�� �/0�	�� ���� ���&?< �0��E ���8 >�� 7 ��� �?����� �������� ��� 89��
 F,�%3G<9*��� -�9��4� 5�H� .�I J++,� �9K1&09:�6� L
 �� �4�	�� L
 M� .  

9'�� ��
���� ��� N���� �:��O� P;�#� ����?Q ���/� R�<� �
)������ �< �:��O� "$*�� >S< ( ������ ���� �<��/< T9G� "#?��
 .�����F��;9*��� J0�Q#A�U�V9��� �*�Q #��: @�� �%/3�� 7 .  
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�4�	�4� -�#�< 7 "#c��� �<d� �		e�< ���V� �4�	�=� f�#�� 8�g4� . �4�	�4� [��/� \�%��(ITU-T) ��  �h��
�4�	�=� f�#�� 8�g4� 7 ����8 . ��#
i� b�':9?���� >�G6���; �/&?��� >��,��� ��3/��� >��,�� �W��8 �0 ��j,< ���

F��?�� #�?	�� 1&0 �4�	�4� [��/� T9G; �Ck6; ���
����.  

 �4�	�4� [��/�� ����?�� ��?�X� 8#g�(WTSA)b���3W .;�� >V "9< .��l @�� b�  -�X �*W�#� -� Um @�� .�K���
�Ck6; ���
�� �#	n� -�� �4�	�4� [��/� \�%/� �?;���� ��W��#��.  

 ��� ��9/�� 7 NK��� _�9�o� p�/Q� ���
���� ��� 1&0 �/Q���� ����1�4�	�4� [��/�� ����?�� ��?�X� �0 �8�	�� .  

��K ./� @�� ��<�&?�� ������3�� �4�q r?; 7� s�W� 1&0 �<t=�� P:�?�� #?� b�4�	�4� [��/� \�%� u�	�
� 
 FW��/�� #�v��&� ����#�� ��w3�� .< -��?���(ISO) ����#�� ��3/�9*��� �3x&��� (IEC).  
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���� ��� 7�.  

M����
� ��
���� ��z #�/���� . ��<�$�`� R��v{� r?; ��� #� �C� P|) }�+%���� ~�+�� >�G6��� ��&;�� �<k� D#zp=S< .(
��<�$�`� R��v{� ��� .��� #��/��� ��: �<#30 p=
�v ��
���� ��z #��/��� ]�?:� . >?Q R#e�,:�"Um " !9
� �<$&< ��
�

 >?Q >S<"FG+3: "�F<�$�i ��
���� ��z #��/��� -� ��	�� ��� ���?�W� ~?: 4� b�3�?< ��+&%�< �0 P+?�&� ��Q�3�� �*G�
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���� ��� }�+%� -� �i ��+�A4� 8�g4� F09�,: . �e�: 4�
 �< ���< M� 8�g4� _��0� �< ��0 �z U��� _��W �*/�+%� ��%A �� �*��v=
 �� �:9�'�� ���&�� ��/� �/&?��� ���9/��

���
���� 8�#0i ��&�0 J&�6� 4 9
� D9� �� 8�g4�.  

 �+��%�� ��� \�9�
4� ��_�9; �*��g �:9�Q ���&a p���%
i 1/&� #� 8�g4� ��: � b��
���� ��� 1&0 �/Q���� #30� ��'3�� �z
��
���� ��� . ��
���� ��� ��'3� �0 -���j,�� 1
�: b�#v{� F� -��� 4 #� ��<�&?�� ��� -� �i p�9wA� b��2 .<�

 �4�	�4� [��/� U��< 7 \�9�
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1  ��	
��� ��
  

 �������� �	�
 � �
����� ��� �
��� ���� ����	)������� �
���!��������� ����
���"  ( #��$ � �%&�'�� �*��+� ,- ./��0�
�� 1��2 3	�4��� 5��2" �6�'�6� 78 9�!:�� �;�< =�%��� 5�%� >��?��� ��	�:? @- AB��C �D E�& �*�2�F" ��	�:� �	"�G�

� �6����H*:& ��
I��� ./��0�".  
 ��KL? �
����� ��� M�N�O ��I�	"������� �
��!�� ��I�+� P�� 3	�4���" �6�'�6� ��;�< E�& �%&�'�� ������� ����
���" 

 �
��IO �Q��O,R S�3T� ./�O E�& ���I	 �3N ��'O �%&�'��  UI0� VW� 78 ��+:��? �%&�'�� X3N ��%�  
) 3T��6.3.(  

 ������ >O �	��G� �	�+� ���F �*!��? �Y�Z�O =�;<-" �Y"�9 H
/ ��C��? �I/��0� �������� F�[\�")SPL �3%!�� 3T�� A
7.3 ( V] �;�)S1"  S2" S3" S4 ( �3^�� �F�'O 5�]- >O) 3T��6.3( ,- _3` E�& A ,�;	� �Z�O �;< �I/��0� �������

 Aa&�!��� >O�? #��\	 1"F�O bc?)T1( ��
%�� #'� 78 aN�!d� >Oe" A)T2 .("f
�� g?��� �
��I` H

%� �
����� ��� 
 �	��G�)������ >O �	��G� ��*Z- ��O (h
i3��� �*
` �Z�	 P�� ��%:�� � ./��0� ������ ��
� �O"�%O _3j� ��I0�.  

2  ������  

���� @��
 M��%�� >& ��� �k ��gl" �
����� ��
�ITU-T hZ�m A�
����� ��� � S�O�;D- �;4� P�� n�;DR� oI? 
p:�� � �*
�8 ���Dq� .�G�� =��� 6 ���i�0� ��I���� r��i �
����� ��� 34� s	��� �" . ��
����� .
t ,- �m A>;�"

��I�+O .u4� A3T:�� �F�&q �IN�2 v32R� .Z�30�" ��
����� w
� x�D- �
��� 78 yI+�� E�& �
����� ��� y
���F- ����%�� � �F����� v32R� .Z�30�" . M��%�� >& ��'� P�� �
DQ'�� �	��+�� ��
����� ����/ 34� n�T���? @3z"

ITU-T .�O �%
K" 78 �
����� ��� �2�F ���Dq� ,{` ���"A�
��� �!� �%
K��� ��� E�& y!^� 6 .  
[1]   �'!��10 M��%�� ���
�i >O ITU-T �%&�'�� >O �	��G� ,c4? )1995( A ��������	
� ���
�
� ����	
� ������
�� 

 ���� �� ������������. 

[2]  �
�����(2003) ITU-T K.46 A ������
� !" ��#�$" �%�&�'� �()�" *�$�+� ,
� ������� ���� �%�-
 �/00+� ,
�1����
�.  

[3] �� �
���(2000) ITU-T K.47 A��2�0�� 1����
� !" ��#�$" �()�" *�$�+� ,
� ������� ���� �%�-.  

[4]  �
�����(2003) ITU-T K.56 A !" �%�%3��
� ��4�45� ���6� �%�-7��8�/9
� :%���
� 
�;���
.  

[5]  ��
I0�(2006) :62305-1A �
�"��� �
:%�3*;�� �:u��� >& �F�'�� (IEC) A�;���
� !" �%��<� = >	?� 1 : A3�0��
�"�$
�.  

[6]  ��
I0�(2006) :62305-2A �
�"��� �
:%�3*;�� �:u��� >& �F�'�� (IEC) A�;���
� !" �%��<�  = >	?� 2 : ���3B
�C�D��.  

[7]  ��
I0�(2006) :62305-4A �
�"��� �
:%�3*;�� �:u��� >& �F�'�� (IEC) A�;���
� !" �%��<� = >	?� 4 :
��%�'0
� *��3 ��#���9
E�� ����8�/9
� ��90�
�.  
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3 ��������  

�
����� ��[��'0� �
����� ��� |3I�:  
1.3 �	�
��� ����
������� �� ������ ����  :y�  �
��` �"�9 ��
%? ��~Up �O"�%O �	�+� �	"�+O "- �i-  �
��` ��~

�6�'�6� V2 ���O =�& "- ���
*u���.  
2.3  �
���� ������������ �
���� ��! "# )T2 ([1] : >Oep/�:� o�� �
��!�� ��
%�� #'� 78 ��
��� ��< "- )T2 (

 �TG ="-" @3	�%��� ��R� �? UO��� ���!�� ���p/�:� �*
` �
��!���"���� ��
/ #'� 78 ��
��� "- ) . ��R� ����	
 o�:� @3	�%����
��!��[��� � ��
��� "-  ��+� �*
` w��� P�� ��� ��+� P�� �T�
��!�� ��
��� ��< "- %30 "- %10 ��
/ >O 

Y"�9�� >O�? w��	 0,3 "- 0,1 T1 ������ E�&(  
3.3  $%�&��� ��' *+ ,�-.�/� ��'(T1) [1] : o�� M�!��� >Oe |3I\	�
��!��YF�	e >Oe "- � T1v >O��� a�- E�& 

 ����%O �0 �`�;0�1,67 A�3O  �? UO��� ���!�����+� ��*
` w��� ����� ��T[��� o�:�� %30" %90�"���� ��
/ >O .  
 >Oe �O-�F�	��� T1i � a!��? |3I\
` A��
��� ��< o�:S��`�;O ����%O �0 1,25 A�3O  �? UO��� ���!�� w��� ����� ��T[���

���+� ��*
` o�:�� %10" %90�"���� ��
/ >O .  
4.3 
0� �&�1 ������� �� �&�(LPL) :��IO �&��� >& ����& y� �F�'O >O �	��G� ��	�C F�
 �� �����0� �3^��

 �%&�'�� ��
� �[4].  
����� � ������� 	
 ����
� �����
 ����� � ������� 	
 ����
� ����� ������� ) ������� �!" #�$%��&� �'(���*� +,��*� -.


 #���/�*�
"���� 01/� 1����� 	
 ����
� 02345 -6�7 �8 9���*� 1�(SPD)1(:�� 	� �&%���� �;��*�" #<=>�  ( 1�@�6� ���&�
 /�/A �"
 ��B" #�����*� CDE F&� ������� 1�GH IJ�AK��;"������� 1��� ���&�
 	
 ��L�*� ����M�&�  .<���*� � 7(�" 62305 17����0 �LM&�� 	� 

��"/�� ��L��(3��� �(IEC) ������� 	
 ����O&� ����P +�15 (LPL))  	
I QR IV( S����� ����� 	
 ����T �3L
 ���P -�� 7/O��" #
 ������� 1��� ���&�*) U"/V�1.(  

5.3  $*�2�� �
��(xp) [1] : �"�9 ��
/ |3I\�)xp (�
��`/ ��
��������� B�:K- �TDQ�0� v�'%�� ��
%�� ��- E�& ����.  
6.3 �3���45��  :�����i ��9" AUI0� VW� 78 ��+:��? �%&�'�� X3N ��%� ./�O E�& ��'0� ��� ���I	:  
�  �3^�� ��'OS1 :��^O" ��0� E�& �%&�'�� )�
I��� ./�0� "- ,�?��� �	�:? "- ������� �	�:? ( @���a����	 V2 

�3	�4��� "- �6�'�6�  

�  �3^�� ��'OS2 :��^O" X3%��? �%&�'��  ��0� >O)�
I��� ./�0� "- ,�?��� �	�:? "- ������� �	�:? ( @���a����	 
�3	�4��� "- �6�'�6� V2  

�  �3^�� ��'OS3 :��^O" �6�'�6� 5��2 E�& �%&�'�� ����� P�� ��0� ) "- ,�?��� �	�:? "- ������� �	�:?
�
I��� ./�0�(�  

�  �3^�� ��'OS4 :O"^��2 >O X3%��? �%&�'��  �6�'�6� 5������� P�� ��0� ) ,�?��� �	�:? "- ������� �	�:?
�
I��� ./�0� "-(�  

7.3  ��
��� �� �&�
0� �&�1(SPL) : >O ./��\	 �O ��Z�O =�;<-" �"�9 H
/ y���
� "- ��
��`�� �� �g�2 ����
 ,- >;�	�� @��� �%&�'�� ��
� h�+? �6�'�6� ��;�< >O �!��$ 5�%� � 3*T�3N ��'O .  

����� � 	�W�� ����P X$G ��%���� CDE (SPL))  	
I QR III ( ��Y �3L
 ���P -�� 1/���" #1����� 	
 ����O&�S1D�� U��Z5" *� ��4�
1���&� 0<=>� ��1�����" ���=&�&� ��Y��*�.  
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8.3   ���% $%�&��� ��41 637� *+ ,�-.�/� ��38�)S ([1] : �Z�F- M�!��6� ����� �F�	��� �&3C =�IO "(S) �� 
 gj� �&3C VC��O�
��!�� �"���� ��
/ �? ��+:�� ��C��? ��	�
 >;� @��� A��
��� "- xp M�!��6� >Oe" T1 ��F�I0� �
���? 

�
�����:  

  1T

x
S

p=
 (1)  

9.3  ��
��� : ���
��!�� � �
�/" �F�	e� ��3�%0� �
��?3*;�� ��
��� "-  "- A�6�'�� V �F�	e ��'O h�+? A��*
�i �
yZ��2 y��?3*i.  

 ������1 �Z" ������� IE 07���*� �����(3��� 17��*� ["�L�*� 1������ \��(3��� ���@/(���*� 1�����.  

 ������2 �K�/^�" ���� �5 	�_ I���(3��� 1/�*� ��(�Y� ������� `�ab� 	
 (.J5 "5  : I���(3J U�T)d��eP ��(�Y�( I��=Lf
 U�T" #
)Ig.ĥ  ��(�Y�( I&�%�� U�T" #) ��(�Y�i"��
(I��=Lf
(3J U�T" #.  

10.3  ������� �� ������ ��
��� : y+
�:jO3*;�� ,�3�/6� 5�]- >O V] @R �u
�� �%&�'�� a��+� ��~ ��)�� y�
���
"G�" y���@�I+.(  

����� � 1����� �DE ���� ���&�*���>� ���j� k : 	
l" #0"1D�� ���Y07��2�� (T1) 	
l" #mY�L���#������ n�� QR  T2 #)	
2�� o�&�
 "5 
T1/T2(" # �417" #1�/pq��� �Y�=r�07/.  

11.3  	�
��� �� �&�
0� '�9� �(SPD) : ��
%	 e�*Z ��P�� �
��!��*��+	 � �������� A�:�
IO �`�:O "- �!:O � �O�:& � e"�u�
�C�	�[��� �%�+O �	.  

�� ����1 � 	
 ����
� l�34 1s�h����) SPD (�3&�t" ���u 01�7 v� +�w ������ �E.  

�� ����2 � -.
 #�����G n��x�� l�3V� /�"2� 	�_ /���� 1����� /��� 7"/^ 	�' 1����� y�(=
 �.  

�� ����3 � -Yb� F&� 0/^�" z��{��
 07�� ����
� 01�7 �W�  	
 ����O&�1s�h���� &� z0/{��
"��=&� "��=6 <|.  

4  ��������  

�
����� ��3'��0� �
����� ��� ��I�+�:  
BN  o	�c� �;�< (Bonding Network) 

CBN  �i3�4O o	�c� �;�< (Common Bonding Network) 

E  ����? (Exchange) 

LPL  �%&�'�� >O �	��G� �	�C (Lightning Protection Level) 

MDF  y+
�3�� .	e���� ���8 (Main Distribution Frame) 

MET  y+
�3�� o	�c��� |�3�O (Main Earthing Terminal) 

NT  �;�< �
��*��� (Network Termination) 

S  �3�4O (Subscriber) 

SPD  ������ >O �	��G� e�*Z (Surge Protective Device) 

SPL  ������ >O �	��G� �	�C (Surge Protection Level) 
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5  ������� ��������  

 �;4�� ��	1IZ30� �%I�� �	�� >;� �
D �3��:�O �
��IO �Q��O ��I�+� P�� �6�'�6� 5��W �
IZ30� ��
;4���  �

�*����� P�� �Q�;�� n�+/-".  

 �;4�� � �F��� =�%��6� 5�%� #�" >;�"1���i :  
•   =�%��6� ��%�L : f�+�� �? =�%�����
Z��W� �Q�;��" �	�:��� �2�F �F�Z�0� �	����� ���
*u�� U
���  
•   =�%��6� ��%�E :�2�O y+
�3�� .	e���� ���8 ��O A������� �	�:? (MDF)�  
•   =�%��6� ��%�P :��
;
�CQ? =e��I? ���`�0� �Q�;��" �
/�" =e��I? ���`�0� �Q�;�� �? =�%���  
•   =�%��6� ��%�C :�%�����
����� �Q�;��" ���`�0� �Q�;�� �? =  
•   =�%��6� ��%�D :��&��0� gl �
����� �Q�;��" �&��0� �
����� �Q�;�� �? =�%���  
•   =�%��6� ��%�S :�2�O�,�?��� �	�:?   
•   =�%��6� ��%�A :� �Q�;��" ,�?��� �	�:? �2�F �F�Z�0� ���
*u��� U
��� f�+�� �? =�%�����
Z��W  
•   =�%��6� ��%�M :��
�2���� �Q�;��" �	�:��� �2�F �F�Z�0� �	����� ���
*u�� U
��� f�+�� �? =�%���  
•   =�%��6� ��%�I :��
�2���� �Q�;��" ,�?��� �	�:? �2�F �F�Z�0� ���
*u��� U
��� f�+�� �? =�%���  

  

 :�;��1/K.67 =��� ��7�4�� ����;  

6 ������ ���!"  

1.6  �&�
0�>
5�����  

 ���
*� =��I�C� �� ��3Nq� 3��$ >O �G�" ���
*u��� �	�� h���� ��9 ��
��� �%� E�& ���/" y��?3*i =�& ��/
 �� _3I�� P�� |"3T�� �O"�%O >O >;���� ��C�:O �/"�IO") p��'W� A@-0��OeQ � ���
*u��"�����0� E�& �Y��/ � 

�O"�%0�.(  

���L����/@��    ���2�� ���L�1 

 ���2�� ���L�2 
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 � �F�  ������O y� �6�'�6� ��;�< 5�%� #��$ � ���I�+0� �6�'�6� ���
*u�� �O"�%0� E�& ���%�� ������O"
 ��
�����K.20" K.45" K.21 F�
6� � �6�'�6� ¡

%� M��/ >& ��F�'�� (ITU-T) �	����� ���
*u�? ��I�	 ��
` 

:��� �2�F ��i30������� E�& ,�?��� �	�:? �2�F �F�Z�0� ���
*u���" 9�!:�� �;�< ���
*� P��D � �	�.  
 P�� ��[�+0� �������� HTIO �O"�%O >O ���
*u��� >;~ ���/ y� �%&�'�� >O �	��G� 3T� �*Z" >O ��� �O"�%0� ���/"

 VW� >O X3%��? �%&�'�� �*��+�) 3T��4.7 .(S�3T�"� ��� ,- 78 ��%0�? 3������ �g�i �������� g?��� �
��� ,{` A��gl .O �
 �
`�N8 �	��)�
�"R� �	��G� (3'�%	 �L4:0� E�& "��3�W �N3I0� " ������ 3��$ H

%� �
��I� �IN�W�"]2 A3 A6[  

2.6  ���*?� �&�
0� �@�3.  

8 ������� �/���� =��" ,"F �
�"R� �	��G� g?��� �
��� =�¥ 3	�4���" �6�'�6� �L4:0 �!
I^�� B��ZR� 7) =e��& ��O
�Q��0�" ���
*u��� .(S�%
%
"yj�:	 ��i �*'��'2 B�%���" ���QO �%	3�? �*
` �
�"R� �	��G� h
i3� �I�	 A�	�j�� ��� .  

 ������ ����
� �
��� E�& �Y��/ E�& �
�"R� �	��G� �
��I` #/���") �	�
 ��*Z- ���
��!� ��O h
?��- @e�j�� w	3!��� 
(GDT) ( �*�O"�%O E�& "-������ �
��!�) H���!�� ��O ��
��� �	�
 ��*Z- � .( ="�¦� � F3�"1 P�� �%&�'�� ����IO 

 v�'%�� H
%�� F�
������ ����
�" ��
��!� �%&�'�� >O �	��G� �	�+� ����i (LPL) . H
/ ,3�%�"����
�" ��
��` ������ 
 ������ >O �	��G� ��	�+? ���(SPL)�
��� : SPL I =  0,01"SPL II =  0,02"SPL III = 0,05 �6���D� >& ��I0� 

 ��
/ M�!��������� ����
�" ��
��` "- ��D�'0� �"���� ��
/ >O 3�i- 78 �g�W� �� ��`�;O ��
/ 78.  

 6*3A�1/K.67 =B��
* ������� C�
�7� D����� �����  �&�E�� LPL 

��	
�� LPL 

�
���� �
����  ����� ���	�� 

I 
(%99) 

II 

(%98) 

III 

(%95) 

IV 

0"1D�� 1���  Ip kA 200 150 100 

<�Y }�(�� �LOZ0  Qshort C 100 75 50 

07/t �Y�,  W/R kJ/Ω 10 000 5 625 2 500 
<�Y }�(�� U"5  

 ���&�
~Y���  T1/T2 µs/µs 10/350 

0"1D�� 1���  Ip kA 50 37,5 25 

1�/pq� �P��
  di/dt kA/µs 200 150 100 q <�Y }�(���^ 

 ���&�
~Y���  T1/T2 µs/µs 0,25/100 

-��, }�(�� �LOZ  Qlong C 200 150 100 

-��, }�(��  
 ���&�
~Y���  Tlong s 0,5 

��
"  ��
��� �LOZ  Qflash C 300 225 150 

3.6  F&�3���* G&�H���* :������  

	@F¨ ��
:%� =��I�C� �� h
i3� 3`�� P�� .	�����" o	�c���" �
�����8�6�'�6� V2" �%&�'�� �? ,�3�/6� �
�%� 7 . �"
 �i3�40� o	�c��� �;�< n�%� Aa:O X3%��? "- �3<��O VW� �%&�'�� r?3N ���D(CBN) ��;�< ���
*�" ��0� � 

 o	�c���(BNs) �!;�� �%&�'�� ��
� �	���? �
�2���� 5��W� .	��� ���? .S�!
�j� ���
*u��� #
�j�"SQO�i  "- M��? 
 >O =�I` �;4? ��%	 ,- >;� ���:/ �2�F ��3	3~�
��!���6�'�6� �Q��m ,3�%0� ��
��� "-  . y� =�%��6� �/"�IO"
 @"�+� P�� ��;�� .	��� �
��I!� ��+:��? ��*0� ���I0�� ��+:��? S��	3%�� M"����%&�'�� ��FF3�� �O"�%0� ���'� .	����� �O"�%O 

)3��+O ��
�?(.  
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S��Z�D o	�c���" �
����� g?��� .O �I��� �
�"R� �	��G� g?��� �;4�"S�
+
�:jO3*i  �Q2����� ��j� ��%	 �`�30� �	��G 
�
+
�:jO3*;�� 1��W� >O �`�30� 78 ��`����.  

7  �#		$" %& �'���� �������� ����()�  

1.7   $4I�J� KJ�� L�� ������� C�5�* M��1) �45�� �3��S1 :( *+ C/��./� M��O P� ������� ���. �*4�
 4&�;���:�Q�. R�� KJ�� )3�7J�� F���� *+ S�@��� �&��@ *+ ���3J�� �&��@(  

��O�W�" ��0� o	�c� n�T� � �3<��O ��0�? aj	3!� >& HZ�:�� �%&�'�� ��
� 3� ��2����a
`  . Aa
�&"�2�	 ��� >O B�Z 
 ������ >O �	��G� ��*Z- �& "- �3<��O 3	�4��� "- �6�'�6� V2 ��i �Q��O "- ��;�� M�F �2�F ��
���(SPD) 

 ��O�W� �D- �� ��;�� ,R A�� �����0��:��;����0� �2�F .  
 ="�¦� � �%&�'�� ��
� ����IO F3�"1w	3!� ="- p© ��
`  �	�+�� ���F �*!��? g'/ LPL��%�:0�  .ªB�:?" A��9 E�& 

 ���/ �Z�O �;4? 3	�4��� "- �6�'�6� V2 �2�F �j�j�0� �%&�'�� ��
� #��\	10/µs 350  a�"�9 ��
/ #��\� ��:
?
 ���%0�?If.  

 >;� A7"- �
�	3%� ��
%i"_�3�`� a��+� �O ,- %50 �%&�'�� ��
� >O (I)�� n�T� � 3�  HC�%� H�	 �D � _�R� �
��*�
 a:O �
%��0� ��+:��(%50) ��O�2 �? n��0� �2�F ��j�j�0� .  

3�
+O 6" M��O gl �2���� 3	�4��� "- �6�'�6� V2 ,�i �98" �Q��O >O ���O �i n�%	 A�
��IO ��:/ �2�F m 
 "�+�O B�Z �%:? V��� �I?����(If) ;�" a�"�9 � �%&�'�� ��
� >O�
����� ��F�I0� �
���? a�

%� >:  

  
mn

I
I

p
f ×

×
=

5.0
 M��O gl VW (2) 

 �&��0� 5��W�? ��I�	 ��
` �O- ��2����)�
��IO ��:/ �2�F �g+0� "- ( �"�9 H
/ h+[\�` A��0� �2�O �:& �N�¨0�"(If) 
 �Q��O >O ���O �i �2�F �j�j�0� ��
���m�
��� ��F�I0� �
���? :  

  ( )cs

sp
f

RRmn

RI
I

+××
××

=
5.0

 M��O VW (3) 

�
D:  
Rs  =��
��I0� ��:%�� "- M���� =�� ��D�� n"R�? �O"�%0�  
Rc = ���0� =�� ��D�� n"R�? �O"�%0�.  

"�
��` hC�:�� y+
�3�� o	�c��� |�3�O" �Q��0� �D- �? �D��!0� ������ (MET) S��	3%� o	�c��� �O"�%O «��� .O 
"¦� B�M��O gl ��;�� ,�i �98 o	�c��� �;�4? ��0� �%&�'�� ��
� >O .S�&��O ��;�� ,�i �98 �O- ,{` A�
��` �D��!0� ������ 

 |�3�0�" �Q��0� �D- �?MET M��0� ��;��? a^	�c�? ���0� hC�:�� S��	3%� >O B�Z .O" .	����� �O"�%O «��� .O 
 ��
�w	3!��� F���" M����? ��0� !? �
�� .�/0� �Q���
+
�3�� M���� 78 ��+:��? ) ��OkV 5 .( M���� o	�c� =�D �"
S�	�"F ������ M���� ��
� _3I�	 AS��
I? 34�:	 ��"�I'�� ��%� >&  . x"�D 78 ��;�� F���O� E�& ������ ��4��� @F¨	"

 r/" �F�	e" r�4�F�¬q�.  
� >O X3%��? _�R� >	c� =���D� y&"\� ,8 ­D" �O�+Z ,�;� ,- ����� >O AX��/R�
��!��t�:�� � �	�!;�� a
` �m �
��& 

 �
�"R� �	��G� �Oc�� "- 78 @F¨� �	�� F�Z" n�& =�D ���I��Q��0� =�&  . ��B�3Zq� ,��+G� � �2¨\� 6 a
�&"
 X�+G �
'!���? �:
�0� �
��`�"���� .0� gl �6�'�6� 5��2 E�& ��9 ���:	"B��C �D E�& �&��0� 5��W�" �&��.  
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2.7   T��� *+ KJ�� �� U4���@ ������� C�5�* M��1)�45�� �3�� S1 *+ S2 :( M��O V �WX�E�� C���
���
 KJ�� :O�% 4&�;��� *+ C/��./�)3�7J�� F���� *+ S�@��� �&��@ *+ ���3J�� �&��@(  

- �O ��O >O X3%��? �%&�'�� o
O" 5�%C @F¨	 x��[�C� 78 a
�& "�®����� ��
��`? R� X��C�� 5��2 � .��4
 ��0� �2�F 3	�4��� "- �6�'�6�)�
I��� ./�0� "- ,�?��� �	�:? "- ������� �	�:? ( �%&�'�� ��
�� �
:O��� �%�40� h�+?di)/(dt .

 �"�9 ��
/ E�& �'[\	"Vio �
��!��0� �[�+��F�I0� �
���? �D��!0� ������ �
��� �:  

  

1

io

dt

di
V

T

I
LL

p

MM ×=×= (4) 

�
D:  
LM = ��%&�'�� ��
�" ��[�+0� �"3I�� �? =F���0� x��[�C6�  
Ip = ��%&�'�� ��
� �"�9 ��
/  
T1 =  >Oe�F�	e�%&�'�� ��
� .  

 VC��O y� �%&�'�� ��
� ���IO" �Z�F ����6�di)/(dt @��� A=�'G� H�	�
/ �? ��+:�� ��C��? a
�&  �"���� �(Ip) >Oe" A
�F�	��� (T1))  3T��8.3 ( �%DQ�� w	3!��� �6�G )���D -�C- ( ="�¦� � �:
�0�1 �	�+� ���F �*!��? LPL��%�:0� .  

 �Z�O �;4� ,�;	 ,- ./��\	"�
��!��S��Z �g'/ ��O �D��!0� ������ ��[�+0� ) .^? w��� ���D" µs ��O A  
2 µs 78 10 µs ( >Oe"F�	e� �DQ�� w	3!��� >O�� �K�k ) A@-0,25 µs( �
	���� � �F����� ��C�
%�� ��9 ��� ����O AI 

�
��!���%&�'�� �Q�8 �I!? ���%:O �"3& �2�F ��[�+0� .  
 �g'%�� ������ ��
� �"�9 ��
/"(Isc) n"R�? �?�+�� �"3I�� �QC- �O"�%O =�¯8 =�D � )���D -�C- (�? ��%\� ��
/ y� �
��

�
����� ��F�I0�:  

  

S

oi

sc
L

TV
I

1×
= (5) 

 ��F�I0� "-  

  p
S

M
sc I

L

L
I ×= (6) 

�
D:  
LS = ��[�+0� �"3I�� ����� x��[�C6�.  

 �g'%�� ������ ��
� ��4? ��I�	 ��
`"(Isc) �"�9 ��
/ y� �%&�'�� ��
� ���IO ,{` A(Ip) w	3!��� �6�D 7"- )���D -�C- (
 ="�¦� � �:
�0�1 �	�+� ����i LPL��%�:�0�  . �%&�'�� ��
� �Z�O �;< � �*�Z�O �;< ����	") �
	���� 3T��I( Aa
�&" A

 ��
%? �Z�O �;4? �6�G� ��C- � �Y�O #��\�350/10 µs.  
 ="�¦� � F3�"2 �D��!0� ������ 3��� �"�9 H
/ (Voi)A�%DQ�� w	3!��� �6�D >& �t�:��  �g'%�� ������ ��
�" (Isi) �<�:�� 

 ������ >O �	��G� �	�C H
/ #��$ p© ��
` w	3!��� �6�D 7"- >&(SPL) . ��O �� �O ��3l E�& H
%�� ��� ����/"
) �
&3!�� ��+%�� �2.A" 3.A( �[�0� >O A ����/ �D�+m �&��O gl �"3I� 50 m

2) h= m 5  �e = m 10 ( �&�N�O
�:? �2�F�&��O gl �	.  
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 6*3A�2/K.67 = C����
 :��� :�� $����� $��3�� C����.* �Y��-�� $��3��  R�� 3�� ���Z V �9[*3Y F���\&
 $4I�J� KJ�� L�� ������� C�5�* M��1 :7-@ 4&�;��� *+ C/��./� ]O)s

1
 ( C/��./� ]O L��*)s

3
 (

 KJ�� �� U4���@*)s
2

( 

 

� ������� ��	
� �
�� �����
 ���� ��  

 ��	�� ���
S1 

 ���� ��� ��	

�� �
��

 ��	�� ���
S2 

��	
� �� ��� �����
 

 �������  

 ��	�� ���
S3 

 ��������E	 S 

 �����L	 A	 M	 I ) ������1( 
) 
��
1��� ���� (  

) �	��� ����2.A( 

 �����L	 A	 M	 I ) ������1 (  
 (1.A )�	��� ����  

 �����P,E,L 

 �����C �D �S �
A 

SPL ) ���� �
 ���
�!�"#� $�%�&��(  
$��#� 
'! :

10/350 µs 

[kA] 

)$�*���� 
+,-.#�$ 
��/ 

 01�2
 34��-��
$�25��(  

$��#� 
'!:  
0,25/2 µs 

[kV] 

) ���-��
 6,-.#�
 �	7 
��/

34���(  

$��#� 
'!:  
10/350 µs

[kA] 

)$�*���� 
+,-.#�$ 
��/ 

 34��-�� 01�2
25��$�(  

$��#� 
'!:  
0,25/2 µs 

[kV] 

) 6,-.#� ���-��
 �	7 
��/

34���(  

$��#� 
'!:  
10/350 µs 

[kA] 

) ���� �
 ���
 $�%�&��

�!�"#�(  
$��#� 
'! :

10/350 µs 

[kA] 

) ���� �
 ���
�!�"#� $�%�&��(  
$��#� 
'! :

10/350 µs 

[kA] 

I  $�8��#�(2) 	7 
(3) 

250 6 5 0,1 0,50 ) ������2( $�8��#�(12) 	7 
(14) 

II  $�8��#�(2) 	7 
(3) 

190 4,5 3,5 0,07 0,50 ) ������2( $�8��#�(12) 	7 
(14) 

III  $�8��#�(2) 	7 
(3) 

125 3 2,2 0,05 0,50 ) ������2( $�8��#�(12) 	7 
(14) 

 ��!"��1 9;�.<� =	�!  :	���� 8��/7 >?��
 @A 6,-.
 �B >?��
 @A C"
D :50 2m m 5 = h) >10 m = e ( �*E F&� >
D	���� 
��
 :0,5 mm.  

 ��!"��2 9 $�8��#� H�"*� $I��
 01�2 J �'K (12) 	7 (14) .L�4	�.
 M�N� OP �Q� �
 ���-�� =�"R S-�T4 ����# 100 kv �Q� �K	 
$/�A�
 $*�� �	7 $4�� �I% M�N� OP D@&E D���/.  

 @c? ��I�	 ��
`" �"3I�� =��� �%?��O �D�+m �*:;�" �!��$ �"3& @9 �[�+O V2(e) H
/ X3^\� ,- hz A�
��` ������ 
 ="�¦� � �F�����2 ����� �O�I��? )K

r
(:  

  Kr = A/50 )A �I?30� ���OR�? �+
%O �"3I�� �D�+O y� )2
m(( (7) 

"f
�	 ��F�I0� �
��� (5) �g'%�� ������ ��
� H

%� (Isc)" A ����� x��[�C6� ��
/ X�+D(LS)��	�¦� �"3I�� .  
 ��+:��?" �&��0� 5����� H
/ �
�%� >;� ��
��` ="�¦� � �F����� ������2 �O�I�� ��C��? K

s3
�
��� ��F�I0� � ��0� :   

  
ssr s

K KK ×=3 (8) 

�
D:  

  

io

cs

ss
V

V
K = (9) 

Vcs = �
��!�����0� �?  M����" �:
�O�
����� ��F�I0�? :  
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sccs
IRV ×= (10) 

 ���F�I0� �
���?"(4)" (5) >	�I��� ,c4? Vio"  Isc ��F�I0� f�'� A������ E�&(8)���i :  

 

S

ss
L

TR
K

1×
= ������ E�& �*%
��� f'	 P��(LS/R) >> T1 (11)   (11) 

�
D:  
Kss = ���� �O�& ��
/ M����? ��'�� @9 .	�)Rn"R�? �?�+  M���� �O"�%O  )Ω.((  

�����  9 $�8��#� H�"*� U&4 10 ?	���� V�% $�/�"�N� . ?	���� $".I��/ �
7D��W#�$�"4��� $�8��
 �X� �.  

 >O �i H
/ |Q�2� ��&�3O .O �!��$ ��"3& ��D�+0 ������ ����
� H
/ 3	�%� >;�"�
��`�" �[�+0� ��~  x��[�C
 �"3I��) �
&3!�� ��+%�� 3T��2.A" 3.A.(  

3.7 �	�
��� �� 
������ ���� ������ ������� ���  

�¯ ����D F�Z" ���[\	:  
 - ( ���0� >& ��
I? �%&�'�� �?3N ��%�  

X( ��0� >O ��	3/ ��%:��.  

� ���i � 3	�4��� "- �6�'�6� V2 �2�F �j�j�0� �%&�'�� ��
� #��\	" ���/ �Z�O �;4? ����G10/350 µs  ��
/"
 �"����If . �;�4�� ./��O #���m ��"3O ./��0� ��
��� ,�;	 ,- _3�!0� >O ,{` A��4��6� ��K° =�¯{?") �	�:? "- ������� �	�:?

�
I��� ./�0� "- ,�?��� ( �Z�0� �;< ��
/ ¡!�10/350 µs.  
 ���[�� ��+:��?") - ( A=�'G� H�	� E�&  ���%O �!&�^m �6�G� -�C- � VW�? ��0� y�;�� �"���� ��
�
��!���?��� � >O 

 VW� ��~ �/"�IO E�& a��+/" _�R� 78 VW�)SQ�O AA 500 = Ω 400/ kV 100 × 2( -�CR� y� P�� ���G� ���" �
 ��	�+�� >& ��%�+OLPL >O I 78 IV ���G� �
�
 ,- gl A)X (� �*
�& ���:	S�&��O VW� ,�i =�D  M���� ,�i"   

S�N�¨O S�	�"F.  
 ���G� � yj�:	")X (" �6�'�6� �;�< y���� Qi � �%&�'�� ��
� H
+%� ��&�3O��
��_�R� 78 =�I��  . �
�	3%� ��
%i"

 a��+� �O ,c? H
�+��� >;� A7"-%50 �%&�'�� ��
� >O (Ip)�+:�� 34�:� �D � _�R� 78 X3+�	  a:O �
%��0� �(%50) � 
 ��O�2 �? ����6� QinoI�� �*^I? ��"�±� .  

 �Q��O >O ���O �i n�%	 A�
��IO ��:/ �2�F �g
+� "- 3	�4��� "- �6�'�6� V2 .	��� n�& =�D �"m �I?���� 
 "�+�O B�Z �%:? V���(If)�F�I0� �
���? a�

%� >;� @���" a�"�9 � �%&�'�� ��
� >O �
����� �:  

  

mn

I
I

p
f ×

×
=

25.0
 M��O gl VW (12) 

 �
Dn = 1 "- 2 �g2R� ���G� ������ �:& �SQ�O B�?3*;�� 5��2" �6�'�6� 5��2 ,�;� ��:
D A >O ��	3/ �*^I?
 X��/R� ¡!� �*²�%�i AoI���SQ�O. 

 ��F�I0� ��C��? �*
�& �'[\	 P�� ��
%�� @"�+�"(12)�� ��
%�� �*:O �/- "- �
���:  
 [kA] AI f ×≤ 8  (13) 

 �
DA 3	�4��� "- �6�'�6� ���0 _3I�+0� .�%0� �D�+O ] �I?30� ��3��
��0�? �?�+ [
2
mm].[  
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 �&��0� �j�j�0� 5��W�? ��I�	 ��
` �O-)�
��IO ��:/ �2�F �g+0� "- ( A��0� �2�O �:& �N�¨0�"`�9 H
/ h+[\� �"(If) 
 �Q��O >O ���O �i �2�F �j�j�0� ��
���m�
��� ��F�I0� ��C��? :  

  

)RR(mn

RI.
I

cs

sp
f +××

××
=

250
 M��O VW (14) 

�
D:  
Rs  =��
��I0� ��:%�� "- M���� =�� ��D�� n"R�? �O"�%0�  
Rc = ���0� =�� ��D�� n"R�? �O"�%0�.  

 hC�:�	"S��	3%�� �? �D��!0� ������ 3���  .O" M���� �O"�%O «��� .O M����" ���0¦� M����? ��0� �%&�'�� ��
� >O B�
F���"�
��!� �Z�!0� #/����?  0� �Q���
+
�3�� M���� 78 ��+:��? ) ��OKv 5 .( M���� o	�c� =�D �"S�	�"F _3I�	 A

�I'�� ��%� >& �F�I�?� h�+? ������ M���� ��
� .E�& ������ ��4��� @F¨	" r/" �F�	e" r�4� x"�D 78 ��;�� F���O� 
F�¬q�.  

 �	"�G� ��	�:��� ��+:��?"�6����� �%&�'�� X3^� AS�O��& y����� V2 )1�"e- �I^? >O ,�;0� (S��
I?��0� >&  . � >;�"
 ="�¦� � �:
�0� H
%�� =��I�C� ���G� ���2 . �6F�I0� �
��� ,�;Oq�?"(12)" (13)" (14)0�  �6�D � �Q&- ���i�

�:
IO.  
 A,�?��� �	�:? p© ��
` �O-x�[�` S�O��&��0� >O ��	3/ �I'�� ��%� ,�;� �O�:& ���D -�C-  . ���G� ��� � >;�"

 �6F�I0� b�C- E�& ���%0� H
%�� =��I�C�(12)" (13)" (14)�Q&- ���i�0� .  
����� 9�% 0�
���#� �
 
����� Y�� ���-4 1  0����� ��Z D�!�"
 01�&�1� =�*Q $�%�&�� ;�[ �% $\�� .	J ��]4 $������ 

 
&��� J ��I^ �_��7 `�� $�a�&�-�1�10 $�%�&�� �
 $4�b<� c�-^ �
 ]1 [ OP �7" ������ ��	
 ��
� ����300 A�µs 300  ��� 
 ��� ��� ��� ���� ��!�#$ ����% ���&� �'	()200 �($ *�#+��,  -
./� �01 ���2 �3.��� ���� 4�#5$ -
.$ 6$*�789 *�&+: ;4�$ <���� 

2 =�+.5�>�
�$=��./� ?�@!A B�
4  .��	5� 4��D: �����2 E#@��� F��2" . `�� $�%�&�� ���� D	�f $b�E �% 0�
���
 ���-� 1	
�Q� g/�[ .h-b�E $i��"�� �jR ��b-�� ���� �7 �I[�-�� ��	 300 A�% kl �E  m��2 h-b�E $�%�� ���� 30 kA h-".� ��b-21 
/��#� �%50 �

 $4�.��/ n-��-�#� n-b���� �4��� �'K ja�I%LPL III ����o 2 	7 1 kAm��-�� V�%  . $�8��#� H�"*-/ $�p�q ra�-� V�% ��&<� �'K	(6) 
 ��'� 6�sn =1	 m =20 ����o $�%�&�� ���� ��'4 �
�I% kA 200 )�.�� $4LPL I ( 	7kA 100)  $4�.��LPL III.(  

4.7  
������ ���� �� ������ ������� 
�!�� ���"  

1.4.7  ���� #$��%  

S�F�:�C� #;I\	 �"�9 H
/ �³ E�& �!��$ ,���? � �
��'%�C� ��C��F ��& B�3Z8 78 ��
��` � ,- ./���0� a����
�" �����
a��+� �
��%��6� 5�%:�� oI? � �%&�'�� �6�'�6� �;�4� . �'!�� � ��C����� ��� «���� F3�"10 >O �	��G� h
�i >O 

 �%&�'��[1].  
 �O"�%0� E�& ���%�� ������O"�OeQ0� � ��
����� � �F��� �6�'�6� ���
*u�K.20" K.21" K.45 M��/ >& ��F�'�� 
 F�
6� � �6�'�6� ¡

%�(ITU-T)«���� E�& ����/ ������O y�  >O �	��G� h
�i � �:
�0� �
��'%�C6� ��C����� 

 �%&�'��[1].  
 �
`�N8 �	�� g?��� �
��� 3'�%	")�
�"R� �	��G� ( �L4:0� E�&"�%&�'�� 3�W �N3I0� " ��3��$ H

%� �
��I� �IN�W�"

]2 A3 A6[ .  
 �;4�� ��	"2;	 �
D �
����� ��� �*N3�!� P�� x��[�C6� �6�D -�C-  �`�+0� #'�:O � �%&�'�� o
O" ./�O ,�

VW� P
��*��� �?A ���%m �I�� �`�+O E�&" "x " M�!��� E�& y���� V2 �� @��� �6�'�6� V2 >&6 ���O- (6 = h).  
"	 H
%�
��`VW� P
��*��� �:&" �
�C��� ��%:�� � �I/��0� �g�W� a����
�" ������ .  
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 &'
��2/K.67 ( )*�+,� -�.��� 0����� ��1%�,� �2�'
���  

 3�� �� ������ ������� ���" &14�)���6 ��"�(  

 �	�+�� F�[\�"SPL�
����� ��F�I0�? :  

  
( )
( )

RT

SPLT

UN

UN
SPL = (15) 

�
D:  
  USPL =   �
��!���?�%0� � �	�+� SPL���%�:0�   

  UR =   �
��`
IZ3O �)  >O �/-USPL (
 F�R ��+:��? �
��!�� v��+O ���
*u��� �O"�%O ���%� �	�C ´F
 ���/ "- VW�? �����0��VW� ���O =�& �O"�%O  

  NT (U) =    ��?3^� y�;�� F�I���%&�'�� �[�+� P�� �	"�+O �
��`� µ U "- �*:O E�&-.  
 F�I�� X�+D F3	"NT" �
��!�� USPL  �[�0� �B gl y���� VW ��+:��?  ��` M�N�O B��C �D E�& M��O V2" M��O

S�O�~ ����O �?3�.  
 �[�0� ¶3�%	"B S�^	- �g'%�� ������ ����
� H

%� �
!
i �
��!� ��D�'0��g�W� ������ .  

2.4.7   ���+8� 0����)9���: �2��� ����(  

 ="�¦� � F3�5 �"�9 H
/ 
��`�� �g�W� ����������
���" �D��!0� ������  �:& �*K"�D ./��0� �g'%�� ������ �g�W� 
 �
��%��6� 5�%:��P" C" D) �
�C��� ��%:�� >O ��	3%�� ( ��	�C #��$ p© ��
` M��0� gl y����� V���SPL . >	���	"

 �Z�O �;<��
��`S�:	��� a����
�" ������ S�g�i  �%&�'�� ��
� p��'2 >	���? )��" �"���� ��
/" �Z�0� �;<�&3+ ( >	���?"
 VW� p��'2" VW�" w	3!��� �%I� �? ����!�� �`�+0�)��9 78 �O" A.	�����" Ao	�c��� �Q
��� .( �F�	��� @F¨�"

 �������� 78 M��O gl V2" r?�K �%&�� ��
�� ��+:��? VW�" w	3!��� �%I� �? ����!�� �`�+0� �
��!�� o
!· ��
���" 
�;<- �	���" ��[�+0���Z�0� = . ��%	 VW� .	��� ,{` A��9 E�& �"Q&"S�^	- �
��!�� �	���" ��[�+0� ��
���" 

��Z�0� =�;<- . @F¨	 A��9 E�& �"Q&"S�^	- o
!· 78 VW� .	��� �
��!����Z�0� =�;<- �	���" ��[�+0� ��
���" .  
 �C"��0� �%&�'�� ����
� � ����I�� w	3!��� �%I� �&3C w���" ="�¦� �1 ����%O �O 130 m/µs �
�~ >;�" A�
��!�� 

 ��	�+�� v�0 ��?�%0� ��[�+0�SPL ��%�:0� ) A@-0,01 78 0,05( �Z�O �;<" A�
��!�� gl V2 �& ��[�+0� ����
���" 
 ����/ �!&�^O �
C- �Z�m AM��O20/8 µs .a�Z�O �;< =��	 ��:
? M��0� VW� � �"���� ��
/ �%�" ,{` �����?" A

 ���%��� �!&�^0� �
CR� �Z�0�700/10 µs 3�i- �Z�O y� SQ
�~.  
����� 9 $��#� 
'! c.,T4 20/8 µ u��#�/ $���-�1�/ ?��
 @A �a��R �B vN [5] D�a���� 34��-�� $��� $%�� �7 M�� V�% �
 v	�.�130 m/µs ./�*
 $��#� 
'! �w/ k�.T�� �?��#� �Q� J �
70������� H.  

3.4.7   �+��,� 0����)9���: �2��� ;< ����(  

 b�
/ E�& ,���? ��& � #;I\	��
��` �'!�� � b�
%�� ��
�IO F3�" A9�!:�� �;�< � 3*T� ,- >;� P�� a����
�" ������ 
10 �%&�'�� >O �	��G� h
�i >O [1] . ="�¦� p��	"3��
�I0� ���  .  

01�&�� �B 

������ ���	 
���
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� ��
�I0� ��� rI�\Z" ,��
0� >OS�g�i" �
�����" ���`�0� �&��0� n�+/R� >O V
�2 >O ���;O 5��2  >O rI�\Z �O 
 ,�?��� >O h	3/ M��O gl g'/ H+/)������� �	
( . |�3�-" ������� ���
*� �
I� E�& ��
�I0� HTIO r+
/"

�i3�40� .�
���!�� ��~" UeF����� � ="�¦� � 3" 1"��� �? 3�����  �O3�� ���" ������� |3� �:& ¡
%0� M����isce ��
� 
hD�'0� �g'%�� ������ �O3�� ��� ��:
? AUs 1"��� �? �D��!0� ������ 3��� )1"��� y���O �D- "- ( |3� �:& _�R�"

 �O3�� ���" ,�?���iscshD�'0� �g'%�� ������ ��
� .  

 =�>?�3/K.67 ( @��A 
���2B� �-�>�� -�:  
�-���� �6��4, 

C��D��� ���>��� E�F >G� �;���� �-�>�� -�: 

����	�� 
�� 
����� 
�� 
�������  

 [V] Ue  [A] isce   [V] Us   [A] iscs   

0,01 860 17 2300 23 

0,02 680 13 1640 16 

0,05 480 8 1020 10 

��
����� ���
%�� 3	�%� >;�"0,05 = ηss "  0,1 = ηse3` E�& y� M���� �O"�%O ,- _5 = Rs  Ω  �
���� _�R� �O"�%O"
 y� ,�?��� X3/ _�R�? M����400 = Rt Ω  y� ������ �/"�IO"100 = Z  Ω y�" ,�`�0� H+%�� ��+:��? Ω 400 = Z 

y����� H+%�� ��+:��?.  
.	e���� 3	�%� � b�
%�� ��
�IO 78 F�:�C6� >;� A��� .	����� �O�& H
/ ��&�3m" ����0� )V 50 = UR ( ������� |3� �:&

"�
��!��) V 150 = UR (,�?��� |3� �:& . �"��� �g�W� H
%�� F3�"����
���" �
��!�� ��~ ="�¦� � 4 ���F �*!��? 
 �	�+��SPL.  

 =�>?�4/K.67 ( @��A 
���2B �-�>2� �;��� -�.���  


�-���� �6��4,� �;���� �-�>2� �;��� -�.���C��D��� ���>��� E�F >G�  

���>��� H�F C��D�� H�F �	�+�� SPL  
 [V] Ue  [A] isce   [V] Us   [A] iscs   

I 1000 20 3500 35 

II 750 15 2500 25 

III 500 10 1500 15 

 F3�" H
%�� ���S�^	- ="�¦� � 5.  
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 =�>?�5 /K.67 ( 
���2B�;���� �-�>�� 
�-���� �6��4,� �-�>�� &��� &'�    
 &14� �	�
��� �� 
������ 3� >�� I2�J E �KL�>6 MA��,�
�!���������    

 
������ 3� �� ������)S4(  

����� ������� �� ������� �� !� "�#��� �#$���� )���� ��%� (  
 &���� &���S4  

 �����L	 E	 P	 C   �����D	 S	 A  

 �����L	 E 
	P	 C 

)$b����0,05 = 

ηs  $/�.x�(

 �����L	 E	 P	 C 
)$.��
(  

 �����D 
	S	 A  

)$b����0,1 

= ηs  
$/�.x�(  

 �����D	 S	 A  
)$.��
(  

 ?��
 @A �B)$�25
(  
 $����
 $%��
 y�.E7 �
 ��'
 �B)����� C-E( $�a��R $%��
 y�.E7	 �  

)����� D-C( $�a��R $%��
 @A y�.E7	 �)����� S-C( 

SPL

$�*���� 
+,-.#�$: 

8/20 µs

[kV] 

 ���-��
6,-.#�: 

8/20 µs

[A] 

$�*���� 
+,-.#�$: 

8/20 µs

[kV] 

 ���-��
6,-.#�: 

8/20 µs

[A] 

$�*���� 
+,-.#�$:

10/700 µs 
[kV] 

$�*���� 
+,-.#�$: 

10/700 µs

[kV] 

���-�� 
6,-.#�: 

10/350 µs

[A] 

$�*���� 
+,-.#�$: 
10/700 µs 
[kV] 

$�*���� 
+,-.#�$: 

10/700 µs

[kV] 

 ���-��
6,-.#�: 

10/350 µs

[A] 

I 44 110 64 160 1 1 20 6,4 3,5 35 

II 23 60 34 85 0,75 0,8 15 3,4 2,5 25 

III 10 25 14 35 0,5 0,6 10 1,4 1,5 15 

�����  9;�.<� =	�!  :L�
�Z $���
 $/��	 �a��R �B.  
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 �����A 

��� �	
� �
��� ���� ���� ������� ���	���� �
�� 

�� ���! "# ���� $% &�
��' 

  
1.A ���1�� #$��?�  

 ��
��� >O g�;�� ��+:��? ��*O ��c+O y� �:
IO �c4:O � �
�;���? ���;O ��"3& �2�F �%&�'�� �I!? ��[�+0� ��������
 ��+�+��K F�
6� � �6�'�6� ¡

%� M��/ >& ��F�'�� (ITU-T) .=�;<c? �%&�'�� ����~ p�4\�" H
/" �Y�Z�O 

�Y"�9.  
��Z�O =�;<- ="R� �
	���� ��	"��
��`  P�� ��C�
%�� «���� b�C- E�& ��� ��[�+0� ������ ��!̧\� ./��0� �D- � 

�
�	3u���.  
 �"�9 H
/"�
��` �D��!0� ������ (Vio) �g'%�� ������ ��
�" (Iio)� ��+%�� � ���%O H
/ y� �"3I�� �2�F ��[�+0�  �
&3!�

2.A" 3.A������ E�& a
�& "- ��0� >O X3%��? �%&�'�� ��^O" 5�%+? �%�I�0� .  
2.A  N�,� �� ������ ������� ���"  

 ��F�I0� ��C��? >;�(4) �"�9 ��
/ X�+D �
��` �D��!0� ������ (Vio)�[�+0� � X3N �I!? ��0� �2�F �F�Z�0� �"3I�� � 
 �
D A����� �%&�'��78 ������ H�	 =F���0� x��[�C6� (LM) �
����� �
�	3%��� ��F�I0� �
���? ) =�±� ,- _3` E�&

�	��+O �Z�O �� V/�+�� y+
�:j0� (]3 A6[:  

(1.A)  ⎟⎟
⎠

⎞
⎜⎜
⎝

⎛

+
++××××=
df

edf
hK.L sM lnη20    [µH]  

 �
D) �;4�� 3T��1.A:(  
    h =    �*&�!��� "- �"3I�� _3&]���OR�?[�  
    e =    �"3I�� =��]?���OR�[�  
    f =    ��0� ���Z 78 �%&�'�� �:[< w	3!� ��:/ >O ����0� �`�+0�]���OR�?[�  
    d =   ���0� ���Z" �"3I�� �? ����!�� �`�+0�  
     w × 0,12 = η =   ��0� M�F .	��� �O�&) �%�:0� M�F1 �%&�'�� >O �	��[�� (LPZ 1)( �
D A5 ≥ w 

�� y��^!�� M���� �?�4� _3& �;�4��? a
�4]5 A6[�  
    Ks =   ���;�� .	��� 3K- y&�3	 .	��� �O�&  

":  
    Ips =    �%DQ�� w	3!��� �6�D �"�9 ��
/) ="�¦�1( [kA]�  
    = 0,25 = T1   >Oe�F�	e%DQ�� w	3!��� �6�D  �) ="�¦�1( [µs].  
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 &'
��1.A/K.67 (�� ������ ������� O	�4� N�,�   

 �g'%�� ������ ��
� �"�9 ��
/"(Isc) n"R�? �?�+�� �"3I�� �QC- �O"�%O =�¯8 =�D � )���D -�C- ( �
���? ��%\� ��
/ y�
 ��F�I0�(5) "- (6) ����� �"3I�� x��[�C� h+[\	 �
D A)LS ( ��D���?µH�
����� ��F�I0� �
���? :  

 ( )

⎥
⎥
⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢
⎢
⎢

⎣

⎡

⎟
⎠

⎞
⎜
⎝

⎛++

×

××+

⎥
⎥
⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢
⎢
⎢

⎣

⎡

⎟
⎠

⎞
⎜
⎝

⎛++

×

××++×−+×=
22

22

2

ln4.0

2

ln4.08.08.0

h

e
ee

r

e

h

e

h
ee

r

h

eheheLS (2.A)  

�
D:  
    r  =   �"3I�� ��C 3�/ #'�]���OR�?.[  

 ��F�I0� ��C��? ��%\�"(4) �g�W� ������ ��
��`�
�2���� �"3I�� � �*K��[�C� ./��0� .  
 �	�+�� F�[\�"SPL�
����� ��F�I0�? :  

  
( )
( )

RT

SPLT

UN

UN
SPL = (3.A) 

�
D:  
    USPL =   �
��!�� �	�+� �?�%0� SPL���%�:0�   
    UR =   �`�
�
IZ3O �)  >O �/-�
��!�� USPL (
 ���
*u��� �O"�%O ���%� 3��� �	�C ´F- F�

�VW� ���O =�& �O"�%O ���/ "- VW�? �����0�  
    NT (U) =    h�+� P�� �%&�'�� ��?3^� y�;�� F�I���	"�+O �
��` �
��!�� U*:O �i- "- �.  

"78 ������ H�	 ��?3^� y�;�� F�I�� NT
 

(U)) � 3T�� �;4�2.A (�
��� ��F�I0� �
���?:  

  ( )∫ ∫ ∫
∞π ∞

θθ=
R o I

gT dxxddiipNN ....cos..4

2

 (4.A) 

�
D:  
    Ng =    _�R� E�& ��/�+�� ��^O��� �`��i)��?3^�� F�&/2kmS�	�:C (�  

���� 

����	� 
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    R =    P��" �"3I�� >O ���k �`�+O ´F->� ���:& �3<��O ��0� �%&�'�� X3^�   
)L/2 + 3H ≅ R() T�� �;4�� 31.A(�  

    p(i) =   �?3^�� ��
� =���D� ���F.  
 ������1 
 ��
��	� ��� K.47 ����� � ������� ����� ���� �� �!���	� (ITU-T) �"�� #$ 

p(i) = 10–2 e (a–bi)%&	 ��'(	�) ��	0 ≤ i  *�+ ,"i" �����	� �(-. /0�1� ��!2 !��� [kA]   
� 4,605 = a�0,0117 = b ��'(	�) �	�%&	i  �20 kA ≥ 5,063 = a�  0,0346 = b�	�%&	 ��'(	�)   

20 kA < i .  

    θ  =  ��"3I��" �?3^�� ��%� �? ���" H
%�+O V2" �"3I�� �? �	"����  
    x =   ��"3I�� �i3O" �?3^�� ��%� �? ����!�� �`�+0�  
    Ip =    �[�+	 @��� �?3^�� ��%� � �"���� ��
���!��
� U" �"3I�� �:&  �
���? V�:�+�0�

 ��F�I0�(4).  

  

 �	
��2.A/K.67 ��
��� ���	
���  ���� ������ ������ ������ �� ���� 

���� �! "���#$ ���#%�� &��' ��($  

 ������ ,�;� y;� ��0� >O �:
IO �`�+O �I? E�& .%� �%&�'�� ��?3N 5�%� HTIO ,- _3` E�&" e << d+fy!` ����"  
(f+d)/e ≅ [(f+d+e)/(f+d)] A" ��F�I0� >	"�� >;�(1.A)����� �[:�� E�& :  

  ( ) x

W

df

e
hKL sM ≅

+
×××η×= 2.0 (5.A)  

 �
Dx  ≅ f+d"W r?�K �� =�'G� H�	�
����� ��F�I0� ��C��? a
�& :  

  ehK.W s ××××= η20 (6.A) 

['�� F��&R� �D @F¨	" ��F�I��� �[
(4) ��F�I0� � «���:�� 1��F8" (3.A) E�& =�'G� 78 �	�¦� ��
��I�� oI? B�3Z8" 
�
����� �6F�I0�:  

 

( ) ( )[ ]
( ) ( )[ ]DUCaUC

DUCaUC

U

U
SPL

RR

SPLSPL

SPL

R

−−+
−−+

⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
=

.exp1.

.exp1.

111

111

2

  ������� ��+:��?UR"  USPL ≤ ULIM
 

(7.A) 

���� 

�����	� �)�4 
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( ) ( )[ ]
( ) ( )[ ]DUCaUC

UCaUC

Ub

Ub
SPL

RR

SPLSPL

SPL

R

−−+
−+

⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
=

.exp1.

.exp1.

.

.

111

222

2

2

1
 ������� ��+:��?UR  ULIM 

 ULIM < USPL (8.A) و≤

 

( ) ( )[ ]
( ) ( )[ ]

RR

SPLSPL

SPL

R

UCaUC

UCaUC

U

U
SPL

.exp1.

.exp1.

222

222

2

−+
−+

⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
=  ������� ��+:��?UR" ULIM < USPL

 

(9.A) 

 ������2 � ����� ��	
��� 
�� ��� ����� (7.A)� (8.A)� (9.A)���� � ������ ����!� ��"!# �� �$�%�� ��	
�& '& p(i) at i = 20 kA 
) (*#������� 1(,  

�
D:  

  

1
.

.20

TR

W
U

LIM
= (10.A) 

  
W

TRb
C

11

1

..= (11.A) 

  
W

TRb
C

12

2

..

= (12.A) 

  ( ) 33.8220exp20201
112

2

2

1

2

2

1

1
=−⎟⎟

⎠

⎞
⎜⎜
⎝

⎛
−−+= ba
b

b

b

b
bD (13.A) 

4,605 = a1" �0,0117 = b1" �5,063 = a2" �0,0346 = b2  ������ ����IO y�p(i).  
 >& �I\	"��
��!�� USPL " UR ��D���? kV >O �6F�I0� � (7.A) 78 (9.A).  

�F�  ���D E�& �'[\	" �	�+�� SPL ������? ��I�	 ��
` R → 0 >O �6F�I0� ���G� ��� � =���\� 98 A(7.A) 78 (9.A) 
 ��F�I0� � �:
�0� ��
+��� �j
'�� �(14-A) �
D A� ,�;�
��!�� USPL��%�+O  ������ ����IO" �"3I�� F�I?- >& p(i).  

  

2

⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
=

SPL

R

U

U
SPL (14.A) 

 ,6"�¦� ��	"1.A" 2.A H
/ �
��!�� USPL >O �6F�I0� hZ�m �*
�& �'[\	 P�� (7.A) 78 (9.A) H
/ #��$ p© ��
` 
 ��	�+��SPL" ��
��!�� UR��0�" �"3I�� F�I?-" .  

�"3I�� �2�F �g'%�� ������ ����
� x��[�C� �Z- >O y%�:0� b�CR� ¡!� 78 F�:�C6� >;�" . ��<�:�� �6F�I0� �K�~"
 >& >O �6F�I0� ��9(7.A) 78 (9.A) =���+\� �
D ��
��!�� UR" USPL "ULIM  ����
���?IR" ISPL "ILIM gj\�" 

 >O �6F�I0�(10.A) 78 (12.A)���i f�'�� :  

  

S

LIM

LR

W
I

×
×= 20

 (15.A) 

  
W

LRb
C

S××
= 1

1 (16.A) 

  
W

LRb
C

S
××= 2

2
 (17.A) 

 v�� y&"\�" ��"�¦� � �F����� H
%�� X�+D1.A" 2.A ������ ������ M�N�O p(i)w	3!� ="- E�&  . � F3	 ���+D"
 ="�¦�1 �O�I�� E�& ����
��� ��+%? >;�" A="R� w	3!��� .	e�� ¡!� �DQ�� w	3!��� ,{` A4)  ��
/ ,- @-200 kA 

 ��
/ �?�%� ="R� w	3!���50 kAS�3Z H��" A�DQ�� w	3!���  .( ������ =��I�C� 78 3T:��?" Aa
�&"p(i) >O �6F�I0� X�+G 
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(7.A) 78 (9.A) X�+D � ��I�+0� �DQ�� w	3!��� M�!��� >Oe X3\N �%` A�
��!�� USPL �O�I��? 4 @- AT1=1 µs >O A
����
��� �O�+Z � �3!�� >& o	�I��� �Z- . ���
/ r�+\D"�
��!�� USPL ��4��" ISPL� w	3!���  E�& ="R� w	3!���" �DQ�

������.  

 �	
��1.A/K.67 � 
	�� ��� ������ ������� ���� ���� �!"�#$� %&����&	 ��'���  

 �(�#) 
	*� + ,-$� .0 1*����25 2m,-$� �2�3 
3�4�0  

 ,-$� 3���5)���07��( 

50 = H − 25 = L 

)���� ����	(  

5 = H − 15 = L 

)��
� ����	(  

0 = H − 0 = L 

) �
����	 ���(  

SPL 

(V) USPL (A) ISPL (V) USPL (A) ISPL (V) USPL (A) ISPL 

I 2520 61 4630 112 5000 121 

II 2100 51 3390 82 3540 86 

III/IV 1610 39 2200 53 2240 54 

����� −����� ����  := mm 0.5 = m; r 10 = m; e 2.5 = h (41.2 µH = Ls) �1 = η� 1 = Ks  

 �	
��2.A/K.67 � 
	�� ��� ������ ������� ���� ���� �!"�#$� %&����&	 ��'���  

 �(�#) 
	*� + ,-$� .0 1*����50 2m,-$� �2�3 
3�4�0   

 ,-$� 3���5)���07��( 

50 = H − 25 = L 

)���� ����	(  

5 = H − 15 = L 

)��
� ����	(  

0 = H − 0 = L 

) �
 �������	(  

SPL 

(V) USPL (A) ISPL (V) USPL (A) ISPL (V) USPL (A) ISPL 

I 3370 64 4890 93 5000 95 

II 2690 51 3500 67 3540 68 

III/IV 1920 37 2230 43 2240 43 

����� −����� ����  := mm 0.5 = m; r 10 = m; e 5 = h (52.4 µH = Ls) �1 = η� 1 = Ks. 

C6� H
/ X�+D >;�" x��[�LS ��F�I0� �
���? �"3I�� F�I?- #��$ � (2.A) . ="�¦� ��	"3.A ��F�I0� «���� oI? 
(2.A) �"3& F�I?- p© ��
` �!��$.  

 �	
��3.A/K.67 � 9�!"��:� ��� )Ls ( 

(���� ���#;µH
	*��� 3���5 <��=$  

m 20 = e   m 10 = e 

(m) h 
mm 0,5 = r mm 0,5 = r mm 0,5 = r mm 0,5 = r 

2,5 75,3 54,6 41,2 29,7 

0,5 56,4 37,5 28,7 19,1 

0,05 36,9 18,4 18,5 9,2 

0,025 31,3 12,9 15,7 6,4 
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3.A  ,-'�� ������� 1*>  

�
����� xQ��� �6�G� � 3T:�� >;� A����� �%&�'�� X3N =�D �:  
(1   �%&�'�� >O �	��[�� n�T:? y�  ��0�(LPS)O ,�;O  @F�D- �'!:O h
^/ >) ���� �	��G y���� 13? ��O

 �	�	F�3�� �
C�CR�(RBS)���¦� � �F�Z�0� (�  

(2   n�T:? y�  ��0�LPS�V
�� F���O� E�& oI��� �*^I? >& ���'!O �
�!C �Q��O @9 �?�4�O   

(3   n�T:? y�  ��0�LPS ���/ �?�4� _3I? �;�4��? a
�< y��^` M�F @9 5 m ≥ w.  

 3	�%� �
�����" 7"R� ����G� � >;�"�
��` �D��!0� ������ (Vio) ��F�I0� �
���? ��0� �2�F �F�Z�0� �"3I�� � �[�+0� 
(4) �
D A78 ������ H�	 =F���0� x��[�C6� LM �
����� ��F�I0� ��C��? ]4 A6.[  

  ⎟
⎠

⎞
⎜
⎝

⎛ +××××=
d

ed
hKL cM lnK0.2

s
[µH] (18.A) 

 �
D)�;4�� 3T�� 3.A:(  
  h =  �"3I�� M�!���]���OR�?[�  
  e =  �"3I�� =��]���OR�?[�  
  d = ������� �"3&" �
�!+�� �Q��0� �? ����!�� �`�+0�  
  Kc = ��
�!+�� �Q��0� �? ��
` ��
��� HC�%� y&�3	 �O�&  
  Ks = ���;�� .	��� 3K- ,��+G� � �2c	 .	��� �O�&  

":  
    Ips =    �"�9 ��
/ �%DQ�� w	3!��� �6�D) ="�¦�1( [kA]�  
    0.25 = T1  =   >Oe�F�	e �%DQ�� w	3!��� �6�D ) ="�¦�1( [µs].  

  

 �?@��3.A/K.67 �,-$� + ������� AB*�&  :  
 D�EFLPS*!G5 	5 
(�	 H��� ���)   

,- _3�!\	" �O�I�� ��
/ Kc = 1� =��I�C� ���D �  n�TLPS .O n�T� =��I�C� ���D � �O- ��D�" y�!C ���O LPS  .O
�®�& �
�!C �Q��O [6]�
����� ��F�I�� ���\�` A:  

  3.0
2

1 +
×

=
n

K
c

 (19.A) 

�
D:  
    n =   V
�� =�D �	"�+�O �`�+m oI��� �*^I? >& ���'!0� �
�!+�� �Q��0� F�&.  

���� 

����LPS 
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�0� �	��G ������� ���G� � �O- n�T:? �LPS @9 �� M���� y��^!�� �"�9 ��
/ X�+D ,�;Oq��` A�;�4��? a
�4�
��` ������ 
�[�+0� �D��!0�� ��F�I0� �
���? �"3I�� �2�F (4) �
D 78 ������ H�	 =F���0� x��[�C6� LM ��F�I0� ��C��?   

 �
���]4 A6[:  

  

r

h

w

w

sM
d

w
K

d

ed
hKL ××⎟⎟

⎠

⎞
⎜⎜
⎝

⎛ +
××××= lnπ4.0 [µH] (20.A) 

 �
D)� 3T�� �;4�4.A:(  
    dw =    ���¦� >& �"3I�� �'!� P�� �`�+0�]���OR�?[�  
    dr =    #%+�� >& �"3I�� �'!� P�� �`�+0�]���OR�?[�  
    Kh =   ��
%� "�+O �
;4� �O�& 0,01 [0,5m/1]�  
    Ks =   ���;�� .	��� 3K- ,��+G� � �2c	 .	��� �O�&  

":  
    Ips =   Q�� w	3!��� �6�D �"�9 ��
/ �%D) ="�¦�1( [kA]�  
    0.25 = T1 =   >Oe�F�	e �%DQ�� w	3!��� �6�D ) ="�¦�1( [µs].  

  

 �?@��4.A/K.67 �,-$� + ������� AB*�&  : D�EFLPS�?-@��� %�-I HJ�K� L�
�   

 �g'%�� ������ ��
� ��
/ ��%\�"(Isc)I�� �QC- �O"�%O =�¯8 =�D �  n"R�? �?�+�� �"3)���D -�C- ( ��F�I0� �
���?(5) "- 
(6) ����� �"3I�� x��[�C� h+[\	 �
D A(LS) ��D���? Henry ��F�I0� �
���? (2.A).  

 ="�¦� � F3�"4.A ���
/ �
��!�� (Voi) ��
���" (Isc) �	�+�� ���F ��*!��? �DQ��" ="R� �j	3!��� >& �t�:�� LPL E�& A
 _3` n�T:? y�  ��0� ,-LPS �'!:O h
^/ >O ,�;O �D�")  �O�I��Kc = 1���D -�C- A ( M��O gl y�2���� �
�;���"

 ��[�+0� �"3I�� �I?" ��50 2
m) h=  m 5  �e=  m 10(.  

 �	
��4.A /K 67 � 
*I�-0 ,-'�� ������� 1*> ���� �!"�#$� ����'��� 
	�� ���  

 �(�#) 
	*� +50 2
m4�0 ,-$� �2�3 
3�  

M	7� AB*���� �:�( ��(N�� AB*���� �:�( 

LPL Voi 

[kV] 

Isc 

[kA] 

Voi 

[kV] 

Isc 

[kA] 

I 25 6 250 1,5 

II 19 4,5 190 1,2 

III/IV 12,5 3 125 0,8 

����� ���� :LM = 0,792 µH� LS = 42 µH;����!� "��	# � 4 = d �KS= 1�Kc  1 = �m 10 = e)� 2m 50 (m 5 = 

h Ks m 0.5 = r� m  

���� 
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 �����B  

 ����	�� 
���
������ 
������ ����   
��� �� ������ ������� ���! "#$� :%���& ��'�� ����  

=�'G� H�	  E�& �"R� H+%�� � �%&�'�� w	3!� �6�D F�&"dx × Lr" h�+� P�� ��[�+O �
��`  �6�'�6� V2 E�&
�	"�+O ��
%� �
��!�� U�i- "- �
����� ��F�I0� �
���? A3:  

  ( )∫
∞

××××=
I

gr diipdxNLN 2 (1.B) 

 �
DNg" A_�R� E�& V/�+�� o
O��� ��< Lr" AVW� =�� p(i)  F3	 �O ��3l E�& �?3^�� ��%� � ��
��� =���D6� ���F
 ��
����� �K.25" K.47
6� � �6�'�6� ¡

%� M��/ >& ���F�'��  F�(ITU-T) g	�I0� �" IEC 61663-1  ��F�'��

 �
�"��� �
:%�3*;�� �:u��� >&(IEC)" AI @��� �?3^�� ��%� � �"���� ��
�  �
��!�� �¥U  �:
IO ��%� �E�&VW� .  

  

 �?@��1.B/K.67 � ���?@& �!"�#$� ����'��� ������ ���4*0   
����� ���� ����OP� .0 1*���� ��  

=�'G� H�	" h�+� P�� ��?3^�� y�;�� F�I�� E�& �	"�+O ��[�+O �
��` �
��!�� U ��C��? 3�i- "- �
��� ��F�I0�:  

  ( )∫ ∫
∞ ∞

××=
d I

grT dxdiipNLN ..2 (2.B) 

 �
Dd  y� VW� >& �I�� �`�+O ´F->�"�3<��O �%&�� �?3^� aN3I�  . _3�!�" �
�	3%��� �/QI�� �:� d= 3 h   
) �;4��1.B.(  

 �"�9 ��
/ 3	�%� >;�"�
��!�� U1�[�+0� ���
/" AV��� �
�C��� ��%:�� �:& �
��!��  U0 "- U2�[�+0� A� P
��*��� �:& 
S�O�~ ����O �?3� F�Z" _3` E�& ��
����� ���F�I0� �
��� ��C��? AVW�:  

  
⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

−
+

××
=

2
1

ν2

ν
1

30

d

hI
U

p
 (3.B) 

  
d

hI
UU

p
××

==
30

20 (4.B) 

�
D:  
    Ip =    �%&�'�� ��
� �"�9 ��
/) ��D���? �?�+ Ak(�  
    ν =    ����I�� w	3!��� �%I� �&3C �? ��+:��),- _3` E�&v  = 1,3 × m/s 108 ( �&3C"

 B�^��)c  = 3 × m/s 108:(  

������ �� 

	
��
� ���� ����  
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  ν = 0.43 and 3.1

2

1
2

=
⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

−
+

ν

ν

. 

 ��
��� ��< 1��F8 @F¨	"IpI0� >O ����+0�  ��F�(4.B) ��F�I0� � (2.B) ��F�I0� � «���:�� 1��F8" �[
['�� F��&R� �D" 
(15)�
����� �6F�I0� E�& =�'G� 78 �	�¦� ��
��I�� oI? B�3Z8"  :  

  

( )[ ]
( )[ ]BUAaU

BUAaU
SPL

RSPL

R

−−
−−

=
11

011

exp

exp �
D   UR and U0 ≤ ULIM (5.B) 

  

( )[ ]
( )[ ]BUAaUb

UAaUb
SPL

RSPL

R

−−
−

=
112

0221

exp

exp �
D    U0 > ULIM and UR ≤ ULIM (6.B) 

  

( )[ ]
( )[ ]

RSPL

R

UAaU

UAaU
SPL

22

022

exp

exp

−
−

= �
D   U0 > ULIM and UR > ULIM (7.B) 

 ������1 � ����� ��	
��� 
�� ��� ����� (5.B)� (6.B)� (7.B)���� � ������ ���� �!"#$ �� �%�&�� ��	
�' (' 20 kA = p(i) at i.  

�
D:  
  η  =  VW� .	��� �O�&)η =1M��O gl VW� ,�;	 �O�:& (  

  ULIM = 600 h η / d (8.B) 

  
η

=
η

= 00117.0

10

1

1

b
A (9.B) 

  
η

=
η

= 00346.0

10

2

2

b
A (10.B) 

  ( ) 37.5220exp1
11

2

1 =−⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
−= ba
b

b
B (11.B) 

a1 =4,605" �0,0117 = b1" �5,063 = a2" � 0,0346 = b2 ������ ����IO y�p(i).  
 >& �I\	"����!�� USPL "UR ��D���? kV >O �6F�I0� � (5.B) 78 (7.B).  

�%[��" �	�+�� �F�  ���D SPL ������? ��I�	 ��
` d → 0 >O �6F�I0� ���G� ��� � =���\� 98 A(5.B) 78 (7.B) 78 
 ��F�I0� � �:
�0� ��
+��� �j
'��(12.B) �
D A� ,�;�
��!�� USPL��%�+O  ������ ����IO" VW� p��'2 >& p(i).  

  ⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
=

SPL

R

U

U
SPL (12.B) 

 ="�¦� ��	"1.B H
/ �
��!�� USPL ��	�+�� H
/ #���0 SPL ��
��!��" UR P�� �*
�& =�'G� H�	 ��F�I0� ��C��? 
(5.B) M��O gl y���� VW ��+:��? (η = 1).  
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 �	
��1.B/K.67 � 
�� ����� ����� ������ )USPL ( 
�� ������� ���
����� �!��" #$  

�
% �& �'�*�� ���+ ,-���. 0SPL  �1*��,. 
�� 2��3���������45��� � U
R

  

�����6����� ������ [kV] USPL 

SPL UR (kV) 

0,01 0,02 0,05 

1,5 111 64 28 

1,0 81 44 19 

0,75 64 34 14 

0,5 44 23 10 

0,25 23 12 5 

¹" ="�¦� � 1.B  r
��� �G���
��!�� y�!+��" �g�W� "� ��
/ #IN E�& �D��!0� ������
��!��
IZ30� �) UR × 2 ( >O
VW� �
��*��� �
I� E�& b�;I�6� ��&�3O �Z- .`SQ����i �98 Ar �
��!�� UR = kV 0,75  �	�+��"SPL  =0,01 UI	 ��*` A

 ��+� ,-%1 ��
��!�� >O ��[�+0� E�& �D��!0� ������ �� ��9" ��
%R�>O �i kV 1,5 �+� y� ���%��� �	"�+O �kV 64 
a:O �i- "-.  

 �g'%�� ������ ��
� �"�9 ��
/ ��%\�"(Isc)���i :  

  
Z

U
SPL=

sc
I (13.B) 

�
D:  
    Z=    Ω 400 y����� VW� ��~ �/"�IO y�.  

 H
/ X�+D >;�"�
��!�� USPL�%� �:& �Q&- ���i�0� �%	3��� ¡!� M����? M��O y���� V2 @- �  .	����� �O�& ��
/ 3	
 ���F�I0� � ����I�C�"(9.B)" (10.B) x"�G ���0� =���D6� ,- gl A�
��!�� USPL��:�� �)  F�&������ �6�DS�	�:C  (
 >O g�;? �/- ,�;
C�
��!�� USPL�?�%0� �M��0� gl V��� ��+:��?  . ,{` Aa
�&" �� �
��%IO 3�iR� X3N�
��!�� USPL 

�gl V�� E�& =�'G� �Z- >O .	����� �O�& � M��0� �
��!�� USPL �M��0� V��.  
 ������2 –  ������ ��	
 ��
 ������ ���� ��� ���
 ��SPL II �	�� �� ��� ���! �%2 "�# $% �&�! '��(�)�� *�+,�� -. /�0�   

0,75 kV �1234�� ��
5*+. 67 89  �� �� �:��. ��:.; <=>! ?�:@� *�+,&�� �A!�B. �	34 kV C:. /�� D� D �	�:�� E�� ��%2  �%�,FD
 '�*�&>��NT �G�>��%D �H �	�:��% 5*+. 8 (0,1 = ηe) ������ I)� -&JSPL II ��:.K�� <=>)�� '�� ?�:@�D �� ��BF '�*�&>NT  �A!�B.
 *�+,&��34 kVC:. /�� D�  .�� M� <*�NO� *+P �Q�� ".DC  -. "�# $%)��'��(� *�+,�� -. /�0� kV 0,75 8H� ��� /
 �1234�� 

5*+��  �:��. ��:.; <=>! ?�:@�R�BF ��
 +�KF �	�� �%2 *�+,&�� ��D��. '��(�)�� -. kV 4,3C:. /�� D� .  

 ="�¦� � .	����� �O��& oI�� ���:�� H
%�� rZº�F-"56" A  M����? ��'�� @9 .	����� �O�& ��
C (0,05 = ηe) ��+:��? 
 �%I��L" E" P" C _�R�? ��'�� @9 .	����� �O�&"  (0,1 = ηe)\I�� p© ��
` »% �D" S" I.  

 ������3 STU�4V  5*+�� �.D�,. �� W=! ��
 5*+��% ��X�� Y� "�*+>�� �.�
 Z)R
s

 ( YD��F5 Ω ��]����% ^�_2 ` -.D � 

0,05 = 100/5 = Z/Rs = ηs .� Y� "�*+>�� �.�
 �.�TU�4V +,! W*0�% ��X� 5*+�� W*0� �.D�,. �� W�=>!� ��
 ZR
e

 YD��F 40 Ω a�	�=,F �
 ^�_2 ` -.D�� 0,1 = 440/45 = (Re + Z)/( Re + Rs)= ηe.  

 ="�¦� ��	"2.B H
/ �
��!�� USPL ��	�+�� H
/ #���0 SPL" ��
��!�� URM��O y���� VW ��+:��?   
 (0,1 = ηe)0� y%�:0� b�CR�"S�%?�C |���.  



 

24 ������� (2006/02) ITU-T K.67   

 �	
��2.B/K.67 �  
������� ����� ������ (USPL) 
�� ������� ���
�� ��� #$   
 �'�*�� ���+ ,-���. 0�
% �!��"SPL 
�� 2��3� ��������45��� � UR  

�����6����� ������ [kV] USPL  

SPL UR (kV)  

0,01 0,02 0,05 

1,5 11 6,4 2,8 

1,0 8,1 4,4 1,9 

0,75 6,4 3,4 1,4 

0,5 4,4 2,3 1,0 

0,25 2,3 1,2 0,5 

 �g'%�� ������ ��
� �"�9 ��
/ 3	�%� >;�"(Isc) ��F�I0� ��C��? (13.B) �
D Z  P�� @"�+�50 Ω "- 100 Ω �/"�IO y� 
 ���F ��~M���� � ���0� ���F "- ���0�  � _�R� A������ E�& ,��2¨� �����S�
�	3� 
%�� >O ��C�.  
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 �������I 

��	
 �� 
��� �� ������ ��
���� ���� ���� 
��� ���� �!"�#�� $�%�&��� : 

'(��)��� �����*��� �	�+,���  

 

1.I �%
7%  

 �Z�O �;4� ,8 ���%�� _�3�`6� �
ic� 78 �
	���� ��� |�*	�
��!���[�+0� �& �2�F �%&�'�� �I!?  >Oe �D��!O �"3
	g'/ ��O" M�!���>S��Z  �Z�O �;4� �?��O �;< �� �%�jO �"3& �2�F �%&�'�� �I!? �[�+0� ��
��� �Z�O �;< ,8" 
a+!� �%&�'�� ��
� .��+
�"�? �3	�4��i ./�O >O ����+O �
�	3� ��
�Im ,�I�+\	 A���? n�
%��" � �	e����X��u�� �Q�8 
�%&�'�� ��:[<.  

2.I 8�9��� :;�����  

�
����� ��N�3�`6� �2¨\� �I?����&6� :  
• S�
�+� ��	3/ �"3I�� ,�;� A�%&�'�� �:[< w	3!� ��:/ >O >;� �
³ ��
��� ����&� S��T�:O ��:%�� F���O� E�& )f
�	 

 _�3�`6� ��� =�¯8 �
��;O8���i�0� ��:%�� F���O� E�& �%&�'�� ��
� ��4��� ��K°.(  

•  _�R� ��I\�n�� ���O �?��m �
³ �
��� �+�	  f�C r
 �%&�'�� �:[< w	3!� ��:/ E�& y�30� 3	�'��� -��O
_�R�.  

•  �
��I0� �Q��0� 3K- ��*\	) B�?3*;�� 5���iSQ�O (S�B�Z �%:� �/ P�� UI	 ���" A�%&�'�� ��
� >O _�3�`� 
 .	e��@3��:�  ��
��� A_�R� f�C E�&f
�	 �k �
��� ���'�� �	3T�.  

•  E�& �"3I�� 78 3T:\	 �
�G� �*��&�!O .O ����%0�? �O"�%0� �^!�:O ��- �:& �%&�'�� ����
�� ��D�'0� ��FF3���
)�
��I�� �6�G� HTIO E�& ��9 ���:	.(  

• �"3I�� =�D M���� ��K° .
t ��*\�.  

• @F��I�� ���6� >& �:[4�� w	3!� ��:%� B�:�� @- ��*\	.  

• E�& �:[4�� w	3!� ��:/" �"3I�� .N�\� @��+0� ¡!� )" _�3�`� ���¼![�O E�& 3K¨	 6 a:;�" ��
��� HuD ,c4? 
�Z�0� �;<.(  

ªB�:?" �%&�'�� �I!? �[�+0� ��
��� @3+	 A��9 E�& (Ia)S���	3C S��T�:O  @F��& H
%�+O V2 F���O� E�&   
) �;4�� 3T��1.I .( y+
�:j0� x��[�C6� =�� ,�;	"(B)�� � ��
��� ��� >& �<�:�� ����� �;4:  

  
x

I
B

a

×π×
×µ

=
2

0
 (1.I) 

�
D:  
    x   y�w	3!��� ��:/ >& ����!�� �`�+0�. 

 y+
�:j0� �`���� F�z8 �*+	"� =�±� «OF �	3� >& �"3I��  y+
�:j0��;i �"3I�� �.  



 

26 ������� (2006/02) ITU-T K.67   

  ∫
+

π×
µ××

=φ
ef

f

a
B

x

dxhI

2

0
 (2.I) 

,- 78 ��� @F¨	":  

  
π×

⎟⎟
⎠

⎞
⎜⎜
⎝

⎛ +×µ××
=φ

2

ln0
f

ef
hIa

B (3.I) 

\�".`��� �
��` ���+ �[�+0� (V) �"3I�� �2�F >O���i y+
�:j0� �`���� �
:O��� �%�40� :  

  
π×

⎟⎟
⎠

⎞
⎜⎜
⎝

⎛ +×µ××⎟
⎠

⎞
⎜
⎝

⎛

=
2

ln0
f

ef
h

dt

dI

V

a

 (4.I) 

 ��F�I0� >	"�� >;�"(4.I)y�	 ��i:  

  ⎟
⎠
⎞

⎜
⎝
⎛×=

dt

dI
LV a

M
 (5.I) 

�
D:  
    LM   �¯ @��� A�"3I��" w	3!��� ��:/ �? =F���0� x��[�C6�G� H�	=�'�
����� ��F�I0� �
���? a
�& :  

  
⎟⎟
⎠

⎞
⎜⎜
⎝

⎛ +××=
π×

⎟⎟
⎠

⎞
⎜⎜
⎝

⎛ +×µ×
=

f

ef
h

f

ef
h

L
M

ln2.0
2

ln
0

   in µH (6.I)  

 �[�+0� ��
��� >& �I\	"Iloop�
��� ��F�I0�? :  

  a
S

M

S
loop I

L

L
Vdt

L
I ×⎟

⎠
⎞

⎜
⎝
⎛=⎟

⎠
⎞

⎜
⎝
⎛= ∫1 (7.I) 

�
D:  
    LS  ����� �"3I�� x��[�C�.  

  

 �����1.I/K.67 � ���� 	
��
��� ����  
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3.I �
�
��� ������� ����
�� �
�
��� �!�"  

1.3.I ����
�� �
�
��� �!�"  
 �;4�� ��	2.I  - ( �	�	F�3�� �
C�CR� ����(RBS) �
D A����26� ./�0 � s	���'�� �Q�q �':O 1��� E�&- � �Z�

�%&�'�� ��:[< �Q�q ��I�+� . �;4�� �O-2.I X (�?�3%O �	�� >�^�
` ���� ��%1 . �����O" =e��I? ��&�O �':0�"
 ��
�� ���+O =Q2 3� �D�" @F�D- ���m ��0�?Pearson)  V�:��1330 ( �"�:� �2�F M�N�O X�?�� |�4;O @�j	

 ½�IOh	3/ . U
��� f�+�� 3�
+	"RS232 \? >&�	3'? |�
�- ��&�+m X�?���� |�4;O E�& �I . b�
/ 3OR� ��� >O¨	"
%&�'�� �:[< ��
��3<��O �.  

       

   �(    ����RBS���	
�� �
��   �(   ���� ��
 

 �����2.I/K.67 � ��������� ���
�#� �$%� (RBS)�
�
��� �!�&   

2.3.I   '
�(� �)*&� �
�
��� ��������$�+����
,&� �  -�.�
+" ����  

 �;4�� fN�	3.I� �*:O ���\� P�� ¾	3u��� ����26� ��
;4� " �6�'�6� 13? ��/ � �u+\�" �%&�'�� b�%�
��!�� 
�[�+0�� �I? E�& �&�N�O �"3& � f1��� >O  .���i y� ��
;4��� ��
�IO":  

�  �"3I�� F�I?- :e = 1,5 m" h = 2,0 m)  �"3I�� �D�+O3 2m(�  
�   A�%&�'��" �"3I�� �? �`�+0�f = 100 m.  

 

  

 �����3.I/K.67 � �
�
��� ������  '
�(� �)*&���$�+����
,&� � -�.�
+" ����   
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 �;4�� ��	"4.I�
+
�3�� a����Im p��O y�	 ��
`" A¡
%0� �%&�'�� ��
� :  
��
��� : >Oe�F�	��� (T)  =0,375 ms�  

 �"���� ��
/(Is) = kA 9,8. 

 

 �����4.I/K.67 ��(�
0�� �
�� 1234   

 �;4�� fN�	"5.I �[�+0� ��
��� M�!��� >Oe ,- a
` ¼DQ\	 ,- >;� �
D A�"3I�� �2�F �[�+0� ¡
%0� ��
��� � 
 �[�+0� ��
��� >O�� a?�4O >Oe �� �D��!0� �"3I��) A@-µs 0,35 ( � F3� y�" A�	�j�� �g'/ ��O a�Z�O �;4� ,-"

 ���D" �I^? h
�3�µs.  

  

)0� �;4�� .O >O���O gl UO��� b�
%4.I(  

 �����5.I/K.67 � '
�! ��$�+����
,&� - ����*��   

 ��F�I0� � �	F�I�� H
%�� 1��F{?"(4.I) ��
��� �Z�O �;< ����&�" |3[:O a�< �?��m ��
��+O �Z�O �;< E�& �'� �:�{` A
 ����/ ��m0,375 µs ��
%? �"�9" 157 V .�� ����%O yj�:	" �;4�� .O ��
%�� �5.I E�&- ��- a
` ¼DQ\	 ,- >;� �
D A

 �+
%0� ��
%�� >O Q
�/(V 110).  

����� 

���	��(KA) 

����� 

���	��(V)
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 =��&- 78 �:�+� �N�!�C� 3�i- �%	3� M���� ,�;Oq�?"Rusck [1.I] . ��:/ F���O� E�& ��
��� ��4��� �%	3��� ��� y&�3�"
�:[4�� w	3!� . �6F�IO �
���?"Rusckx��[�C6� =�� E�&  y+
�:j0� (B) X�+D" �%&�'�� >O �:
IO �`�+O �:& 

 A�
:O��� a��%�4O78 ������ H�	y�	 �O :  

  0=
dt

dB
  ������

00
vrt ≤ (8.I) 

 

⎪
⎭

⎪
⎬

⎫

⎪
⎩

⎪
⎨

⎧

⎥
⎥

⎦

⎤

⎢
⎢

⎣

⎡

⎥
⎥

⎦

⎤

⎢
⎢

⎣

⎡
−⎟⎟

⎠

⎞
⎜⎜
⎝

⎛
⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
+=

−

t
r

tv

v

v

Tvr

vI

dt

dB
2

1

2

0

0

2

00

2

0

0
11

60
     ������    Tvrtvr +≤≤

0000
 (9.I) 

 
( ) ( )

⎪
⎭

⎪
⎬

⎫

⎪
⎩

⎪
⎨

⎧

−
⎥
⎥

⎦

⎤

⎢
⎢

⎣

⎡

⎥
⎥

⎦

⎤

⎢
⎢

⎣

⎡
−⎟⎟

⎠

⎞
⎜⎜
⎝

⎛ −
⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
+−

⎥
⎥

⎦

⎤

⎢
⎢

⎣

⎡

⎥
⎥

⎦

⎤

⎢
⎢

⎣

⎡
−⎟⎟

⎠

⎞
⎜⎜
⎝

⎛
⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
+=

−−

Tt
r

Ttv

v

v
t

r

tv

v

v

Tvr

vI

dt

dB
2

1

2

0

0

2

0

2
1

2

0

0

2

00

2

0

0
1111

60
 (10.I) 

  ������ Tvrt +≥
00

 

"ν0 ���F�I0� � (9,I)" (10.I) 3G� B�^!�� � B�^�� �&3C y� )3 × 8
10 m/s ("ν E�& �%&�'�� ��
� ��4��� �&3C y� 

 @"�+� ��- _3`1,3 × 8
10 m/s . A���F�I0� ���� � �	F�I�� H
%�� 1��F{?"78 ������ H�	 �;4�� � ��0� �Z�0� �;< 

6.A ."� �*��
/ �"�9 ��� �Z�0� �;4112 VS�O�~ �%?��O y�"  �
��!��+
%0� �.  

  

 �����6.I /K.67 � ��	
 ��� �
��  �������Rusck  

 ���F�I0� b�C- E�& ¿��W� >;�"(9.I)" (10.I) �"�9 ��
/ ,- 78 �
��!���[�+0� �S�
�+� ��	3%�� ��"3I�� �2�F  ��%� >O 
 �%&�'�� X3N)f < T v0 ( n�T���? @3+	 ��
� a�- E�& �%&�'�� ��
� ����&� =Q2 >O ��O �;4? �*�	3%� >;� ��
/ y�

S�%�� ��:%�� F���O� E�& ��F�I0� � F3	 �0 (4.I) ,{` A�%&�'�� X3N ��%� >& �"3I�� ��I�?� �98 a�- gl A�
��!���[�+0� � 
�S�
z��� o!�:�� >& ��*O ���IO f�'� ��
��� ��4��� �&3C ,R A���i�0� ��F�I0� ��C��? �?�+�� ��
% . ��� � yj�:	"

 >O �6F�I0� �
��� ���G�(8.I) 78 (10.I).  

3.3.I   ������ �
���� �
��� ����� �
���!� �����"#���$
 �%&'   

3`�	 �;4�� 7.I  -(�?�3%O �	�� � ��[��RBS ,- >;� �
D *
` ¼DQ\	� ���;O �"3I�� ���" A��0� E�&- � �"3& F�Z" 
 ��
� ���+O ��C��? ����
� b�%\	" �g'/ ����? yC�� X���- >OPearson)  V�:��110 ( X�?�� |�4;O @�j	 @���
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 ���� a
` �Z�� @��� ��0� �2�F M�N�ORBS . �;4�� �O-7.I X (�0� 1��� ��/ E�& �%&�'�� �Q�8 ��
` >O ���4
��/�30� cu�O �2�F.  

                

   X (�%&�'�� �Q�8    RBS  - ( ���� ��O�"3I? �*±�  

 �����7.I /K.67 � ������ �
���� �
��� ����� �
���!� �����" #���$
 �%&'   

S�
�° ��u+0� ��Z�0�" 1��� ��/ �:& ) �;4��8.I ( �"3I�� �:&") �;4��9.I (`���O >Oe" �"���� ��
%? �p/�:��� 78 
 ��
%�� #'�(Th) M�!��6� >Oe" (Tf)S�I
t �F���  ���%m ��- E�& 1,25 (T90% – T10%).  

  

 �����8.I/ ��(	���K.67 ���'
)�� �
�"   

������2005/02/19 ���	�� − 1
��� �
��  

������= µs 1,2 = T
f
 − µs 24 = T

f
 − KA 7,4   

�"3&
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 �����9.I/K.67 �&��� ���* ������ �
���� ���$�� �%  

S�%?��� �"3I�� �:&" 1��� ��/ �:& ��u+0� ��Z�0� �? ����%0� 3*T�"S��
Z �Z�0� �;< p© ��
` �	�j�� .  
����26� ./�m �%�I�0� ��
�I0� y�	 ��
`":  

• �"3I��" 1��� ��  �? �`�+0� :f =10,7����O-   

• �"3I�� M�!��� :h = 0,80�3�O   

• �"3I�� _3& :h = 1,00�3�O  

• �"3I�� ���O 3�/ #'� =0,00753�O .  

 ��F�I0� ��C��? �"3I��" 1��� �? =F���0� x��[�C6� E�& �'[\	"(6.I) �
�����:  
  LM = 0.0143 µH 

 ��F�I0� �
���? ����� �"3I�� x��[�C� E�& �'[\	"(2.A) �
�����:  
  LS = 2.89 µH 

"��
� @��� ./��0� �"3I�� ������ H�	a
�8  ��F�I0� ��C��? (7.I) �%&�'�� ��
�� ��+:��? Ia = 7.04 kA A ����
������ :   
  Iloop = 34.8 A 

 ¡
%0� �"3I�� ��
�"(A 4.26) Q
�/ ´F- �� (%24) �O�~ ���+� 6 ����26� ./�0 �
%
%G� |"3T�� ,R �I/��0� ��
%�� >O 
� �3%!�� � �F����� �	3T:�� ��N�3�`6� �
&3!�2.I . 78 H*+	 ��N�3�`6� ��� �? >O _�3�`� �À"�i- �D ��� x��D8 � 

�"3I�� .O ,3�%	 6 ���� � ���� >& ��
I? �%&�'�� ��
� >O �B�Z �%:	 @��� �
��?3*;�� �/���� V2 F�Z" � ����	 �3!�� .
� �O��I�� ��� >& o	�I��� v3Z A�%&�'�� ��
� b�
/ Á�+:�C� �Z- >O"b�
%�� ��
��� w���0� n�T:�� h+i .  
 �%&�'�� a��+� @��� ��
��� �Z�O �;< ,- X��u��� r��K- �%` A�O��2"� ��
� �Z�O �;4� �?��O �;< �� �%�jO �"3& 

 �%&�'��a��9 ��*
�"�9 P�
/ �? ����%�� �/QI�� 3	�%� ,�;Oq�? ,-" =Q2 >O =F���0� x��[�C6� �? ��+:�� F�z8 
" ��F�I0� ��9 ��� ����O ����� x��[�C6�(7.I).  

������2005/02/19 ���	�� − 1
��� �
��  

������= µs 1,3 = T
f
 − µs 24 = T

f
 − A 26,4   

 �
��
���

(A
)
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[I.1] RUSCK (S.): Transactions of the Royal Institute of Technology, No. 120, Induced lightning 

overvoltages on power transmission lines with special reference to the overvoltage protection of 

low voltage networks, Stockholm, 1958. 
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